RESOLUTION NO. <u>/7-//</u> CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER Brocks Compton ON THE 16 DAY OF 17/ay , 2011.

A RESOLUTION ACCEPTING THE BID SUBMITTED BY AMERICA'S DECORATIVE CONCRETE, LLC OF GREENVILLE, OHIO FOR THE CITY OF CENTERVILLE'S 2011 CONCRETE PROGRAM: HANDICAP ACCESSIBILITY RAMPS, SIDEWALK REPAIR, NEW SIDEWALK, AND RTA BUS STOP ACCESSIBILITY AND AUTHORIZING THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville was awarded Community Development Block Grant funds (\$70,000) for Handicap Accessibility Ramp Improvements, and

WHEREAS, the City of Centerville was awarded New Freedom funds (80% federal - 20% local, maximum of \$25,344.00 federal match) through the Federal Transit Administration as solicited by the Miami Valley Regional Planning Commission for RTA Bus Stop Accessibility, and

WHEREAS, the City of Centerville advertised for bidders for the 2011 Concrete Program: Handicap Accessibility Ramps, Sidewalk Repair, New Sidewalk, and RTA Bus Stop Accessibility, according to specifications prepared by the City, and

WHEREAS, America's Decorative Concrete, LLC, of Greenville, Ohio, was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by America's Decorative Concrete of Greenville, Ohio for the 2011 Concrete Program: Handicap Accessibility Ramps, Sidewalk Repair, New Sidewalk, and RTA Bus Stop Accessibility in the City of Centerville, is hereby accepted in the amount of \$161,720.00. The City Manager is hereby authorized to expend up to an additional \$41,000 to fully expend the budgeted City and CDBG funds for Handicap Accessibility Ramp Improvements,

for contingencies during the project. The maximum total amount approved is \$202,720.00.

Section 2. That the City Manager is hereby authorized and directed to do everything necessary to evidence acceptance of said bid and to make payment pursuant thereto.

Section 3. This resolution shall become effective at the earliest date allowed by law.

PASSED this <u>16^{ch}</u> day of <u>17ay</u>, 2011. <u>Mayor</u>, 2011. <u>Mayor</u>, City of Centerville, Ohio

ATTEST:

Debra A. James Clerk of Council, City of Centerville, Ohio

CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number <u>17-11</u> passed by the Council of the City of Centerville, Ohio on the 16 day of $\underline{\gamma\gamma_{a}}$, 2011.

Delra a. James Clerk of Council

Approved as to form, consistency with existing ordinances, the Charter and Constitutional Provisions. Department of Law Scott A. Liberman **Municipal Attorney**

BIDDER'S PROPOSAL

2011 Concrete Program: Handicap Accessibility Ramps, Sidewalk Repair, New Sidewalk, and RTA Bus Stop Accessibility

Submitted by: AMERICA'S BEOMATTIVE CONCLETE, ULL

Having read the specifications and examined the drawings included herein:

2011 Concrete Program: Handicap Accessibility Ramps, Sidewalk Repair, New Sidewalk, and RTA Bus Stop Accessibility City of Centerville, Ohio

for the construction of said project in Centerville, Ohio, and having also taken into account all addenda issued, the undersigned hereby propose to furnish all materials and to perform all labor, as specified and described in the said Specifications and as shown in the Plans for the said work, for the following sums:

A. STATEMENT BY ALL BIDDERS:

The receipt of the following Addenda to the Contract Document (drawings and specifications) is hereafter acknowledged.

Addenda No. ____ Date ______

Addenda No. _____ Date _____

B. COMPLETION DATE INFORMATION

The bid price reflected above represents a completion date of September 30, 2011.

C. CONTRACT PREPARATION INFORMATION

The bidder shall supplement proposal by supplying the following information for use in the preparation of the Contract.

NAME OF COMPANY/CORPORATION: AMELICA'S HEDLATIVE CONCRETE, UL
NAME OF PRESIDENT: MATTITELY C. THOMASON
ADDRESS: 1857 St. L.F. 571 W.
CITY, STATE, ZIP: GRESLYICCE, OTHO 45331
FEDERAL TAX I.D. # :
TELEPHONE #: 937/969.4195
FAX#:
E-MAIL: adc_concrete c Vahoo. com

Attachments - Page 6 of 16 (lew 1)

D. EXECUTION OF PROPOSAL

.....

NOTE: Failure to sign proposal shall result in rejection of bid.

THIS PROPOSAL SUBMITTED BY: AMERICA'S DECONTRYE CONCLERE, LLC
(NAME OF CONTRACTOR)
BY:
(SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE)
MATTIFELY C. THOMPSON, SOLE MEMBER (PRINTED NAME AND TITLE)
DATE: MAY 4, 2011
Contact person for Contract processing: Karry Lary
Mailing address if different from above: <u>Same As Above</u> .

UNIT PRICE SHEET

 \mathcal{A}

2011 Concrete Program: Handicap Accessibility Ramps, Sidewalk Repair, New Sidewalk, and Bus Pads

The City of Centerville Material and Construction Specifications are part of this proposal and may be referenced for a more complete description of the items listed. Return one (1) filled-in copy of properly signed proposal together with the executed forms.

REF. NO.	SPEC. NO.	DESCRIPTION	EST'D. QUANT.	UNITS	UNIT PRICE	AMOUNT BID
landicap	Accessibi	ility Ramps				
1A	201	Shrub & stump removal	4	EA	200.00	800.co
1B	201	Tree removal, ≤12" diameter, iucl. stump	4	Ел	500.00	2,000.00
1C	201	Tree removal >12" diameter, incl stump	4	EA	750.40	3,000.00
2A	202	Sidewalk/ramp removed	3000	SF	1.50	4500.00
2B	202	Brick sidewalk/ramp removed (non-mortared)	250	SF	1.00	مد.250
2C	202	Brick sidewalk removed (mortared)	250	SF	1.50	375.~
2D	202	Curb & gutter removed	500	LF	6.00	3000.00
3A	604	Manholes adjusted to grade, adjusting ring	3	EA	250.00	750.00
3B	604	Manholes adjusted to grade, "hard adjustment"	2	EA	450.00	900. co
3C	604	Catch Basin, Minor Repair	2	EA	35D. e.	700.00
3D	604	Water/Gas valves adjusted to grade	5	EA	50.au	250.00
4A	608	Concrete Sidewalk, 4" thick	1500	SF	4.30	4, +50. a
4B	608	Concrete Curb Ramp, 6" thick	1250	SF	4.80	6,000.00
4C	608	Brick Sidewalk/Ramp	500	SF	15.00	7500.00
4D	608	Detectable Warning - Brick Paver, Red per specs	450	SF	19.75	3 437.50
4E	608	Detectable Warning - Brick Paver, Ivory for contrast	100	SF	18.75	1875.00
4F	608	Detectable Warning - Cast-in-Place Panel	100	SF	18.75	1875.00
4G	608	Detectable Warning - Rigid Retrofit	100	SF	15.65	1565.00
4H	608	Detectable Warning - Flexible Retrofit	50	SF	15.65	782.50
5	609	Concrete curb replaced in kind (incL complete street restoration)	500	LF	19.00	9,500.00
6A	614	Maintaining traffic, arterial roadway (per corner with new ramp)	15	EA	425.~	6,375.00
6B	614	Maintaining traffic residential roadways (per corner with new ramp)	15	EA	175.00	2,625
7	659	Restoration incl seeding/mulching, etc [per corner with new ramp(s)]	30	EA	45.00	1950.au * 71,460.au
				SUBTOT	AL	* 71,460.au

Attachments - Page 8 of 16 (Rev 1)

UNIT PRICE SHEET

REF. NO.	SPEC. NO.	DESCRIPTION	EST'D. QUANT.	UNITS	UNIT PRICE	AMOUNT BID
Sidewalk I	Repair an	d Miscellancous Work				
1A	201	Clearing and Grubbing (exclud. Tree Removal >12")	1	LS	200.04	200.00
1B	201	Tree removal >12" diameter, incl stump	1	EA	750.00	750.00
2A	202	Sidewalk/ramp removed	4498	SF	1.52	6,747. an
2B	202	Driveway Removed	300	SF	2.00	600. as
2C	202	Curb & gutter removed	40	LF	4.00	240.00
3	255	Full Depth Pavement Removal and Rigid Replacement	50	SY	72.00	3600.00
4	448	Type I, Asph. Concrete Surface Course, PG64-22, medium traffic, 4" thick, driveway	150	SF	3.50	525.00
5	452	Concrete Driveway, 6" Thick	150	SF	4.80	720. co
6	601	Rock Channel Protection, Type D, with filter fabric	3	CY	100.00	300.00
7A	603	12" Storm Sewer - RCP, CL IV (iateral)	28	LF	38.00	1,064.00
7B	603	12" Storm Sewer - ADS N-12 or approved equal	50	LF	32.00	1600.as
8A	604	Catch Basin, Type A	2	EA	1445.00	2890.00
8B	604	Catch Basin, ODOT 2-2B	1	EA	795.00	795.00
8C	604	Manholes adjusted to grade, adjusting ring	1	EA	250. 00	250.00
8D	604	Manholes adjusted to grade, "hard adjustment"	1	EA	450.00	450.00
8E	604	Catch Basin, Minor Repair	1	EA	350.0	350. ++
8F	604	Water/Gas valves adjusted to grade	2	EA	50.00	100.00
9A	608	Concrete Sidewalk, 4" thick	4498	SF	4.30	19,341.4
9B	608	Brick Sidewalk/Ramp	75	SF	15.00	/125.au
10	609	Concrete curb replaced in kind (incl. complete street restoration)	40	LF	30.0-	1200.0-
11	614	Maintaining traffic	1	LS	1800.m	1800. w
12	659	Restoration incl seeding/mulching, etc	1100	LF	1.00	1100.00
				SUBTO	TAL	45,747.4

UNIT PRICE SHEET

REF. NO. SPEC	DESCRIPTION	EST'D. QUANT.	UNITS	UNIT PRICE	AMOUNT BID
---------------	-------------	------------------	-------	------------	------------

New Sidewalk - Clareridge Lane

12

Clearing and Grubbing (exclud. Tree Removal >12")	1	LS	500. 00	500.00
Tree removal >12" diameter, incl stump	6	EA	750.00	4500.00
Driveway Removed	328	SF	1.50	492.00
Curb & gutter removed	30	LF	6.00	180.00
Type 1, Asph. Concrete Surface Course, PG64-22, medium traffic, 4" thick, driveway	150	SF	3.50	525.00
Concrete Driveway, 6" Thick	178	SF	4.80	854.40
Manholes adjusted to grade, adjusting ring	1	ΕΛ	250.00	250.00
Manholes adjusted to grade, "hard adjustment"	1	EA	450.00	450.00
Catch Basin, Minor Repair	1	EA	350.00	350.00
Water/Gas valves adjusted to grade	2	EA	50,00	100.00
Concrete Sklewalk, 4" thick	3609	SF	4.30	15,5/8.70
Concrete Curb Ramp, 6" thick	120	SF	4.80	576.00
Detectable Warning - Brick Paver, Red per specs	20	SF	19.75	375.00
Detectable Warning - Cast-in-Place Panel	20	SF	18.75	315.00
Concrete curb replaced in kind (incl. complete street restoration)	30	LF	24.00	720.00
Concrete Curb/Wall at back of walk	50	SF	40.00	2000.00
Maintaining traffic	1	LS	1000.00	1000.00
Restoration incl seeding/mulching, etc	902	LF	.75	676.50
			ation incl seeding/mulching, etc 902 LF	

RTA Bus Stop Accessibility

1	201	Clearing and Grubbing	1	LS	750. a	750,00
2A	202	Sidewallt/Ramp/Shared Use Path Removed	250	SF	1.50	375.00
2B	202	Curb & Gutter Removed	30	LF	6.00	180.00
3A	604	Manholes adjusted to grade, adjusting ring	1	ĒA	250.00	250. 00
3B	604	Catch Basin, Minor Repair	I	EA	320.00	350.00
3C	604	Water/Gas valves adjusted to grade	1	ЕЛ	50, as	50.00
4A	608	Concrete Sidewalk, 4" thick	1800	SF	4.30	7,740.00
4B	608	Brick Paver Sidewalk/Ramp	150	SF	15.00	22.50.00
5	609	Concrete curb replaced in kind (incl. complete street restoration)	30	LF	30.00	900.00
6	614	Maintaining traffic	1	LS	2000.00	2000, 00
7	659	Restoration incl seeding/mulching, etc	300	LF	.75	225.00
			SUBTOTAL			

Note: The items and quantities are projected, and may be modified or removed at the City's discretion without price adjustment. Therefore, avoid weighting items because actual quantities could change substantially from the engineer's estimated quantities.

GRAND TOTAL

161.720.00

Attachments - Page 10 of 16 (Rej 1)